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Chel: EStAlE2tel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—3JE22d B AMN==2
500,000& = 1CH*13] 500
—HIINEE HIIZ A2
1,050, 000& *13] 1,050
—JIgz3d g88 Tv&lE
5,000,000& =63l 30,000
— %Y g2t Ao AEX LA =42
65,0003 *204 & x 1204 & 1,560
— 2340=32 SHE HAL=SI
450,000& x53] 2,250
— 2340=32 SHFE ot XS4
100,000& »2CH 53] 1,000
— BB SHOAAH(CCTY) FHIBY 248
457,000 =124 & 5,484
—SEM=2eiel BAIAH(CCTV) BHIES
T2 66,0002 1201 & 792
o=l 9,984
— 2o =32 SN S22
8,000 «13H »83| «12& 9,984
OoJlelsd 2= MA 16,080
— 89 M 110,000 =60 83| 5,280
—ZAH HME 500& *1,00001 83 4,000
—cSx ME 300& *2,00001 83| 4,800
— B HE 50,000 *50H »83] 2,000
OFstli=3s2 348 AZAZH 2= W
= 2,950
— 89 & 110,000 =401 53] 2,200
—cl=™ 300 *5000H x53] 750
O=&E “FHX wXH 300,000& x10& 3,000
OFstua HAEA S2H| 900, 000& » 14! 900
OS5 DA 424 NBLHI F
2,000,000 » 14! 2,000
02 2324l 260,471 260,123 348
Oz22= & HA 156,279
—St=Eso=a2HE3 Sl
4,000,000& *13] 4,000
—S=2Eso=2Hes sgHFNaE Hal
gl 1,000, 000& * 13| 1,000
— 23 0=32 I3 8,000,000&+12& 96,000
—EE0sddel #MIR3
580,000& 1201 & 6,960
— Z23=32 & - dl=E 23
600,000& »12& 7,200
— Zs0=sl2 Hte IS8 AR
3,000,000& x12& 36,000
—S#ENERL S (ANSXUE) 60,000& »23] 120
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dM: BIANE 2
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—ZENY LAESE XS XHAMI(78813736)
70,0003 «1CH*23] 140
~PERANY AFSE NSHUYRER
88,9903 x1CH+13] 89
- EERMNY AHSE NSAESRER
300,000& *1CH*13] 300
—JtAEGHHHA R ABEZ 100, 000& * 13| 100
— AYOrEESIH (3 &) 50,000& x13] 50
—&dJlerE el geldl(3l&) 120,000 13 120
— UM S & CIHYWAIEZE 250,000&+12& 3,000
—RERS 1,200
QoteH 300&+200A4 +12& 720
soleH 4,0003 1024 «12& 480
OdAZHl 5,992
—H&2E)| ASH(ZER)
1,260 4004 *1CH 504
—AESEMHEH(ER)
1,260 *300£ *1CH*12& 4,536
—SZHAE M=) ASH (FLR)
1,360& »100L*42] 544
~£S2YHHAS AZH(HLSR)
1,360& »150L*22] 408
OA& &l s Xl 98,200
—2d2 ¥ JIAEH |XH
6,000,000& x12& 72,000
—3¢E otE a2l 1,300,000, 0002 * 1% 13,000
—XotH=x(28€3) Al
4,000 650 m" 23] 5,200
— 22 JIAHY 20 A
8,000,000 » 14 8,000
03 & Ar2 Gl 10,000 20,000 A 10,000
OJIgldAN2H 10,000, 000& 14! 10,000
202 O4dl 9,000 7,200 1,800
01 = LHA YI 9,000 7,200 1,800
O2sA&dst & S22 220
150,000 »4H x63] 3,600
OstEd FIIE3 & 0lAts &4 262 0|
150,000 »4H x63] 3,600
OFA SRFEA AU 22 04l
100,000 »3H x63| 1,800
206 M= Hl 37,880 37,880 0
01 =8l 37,880 37,880 0
L2228 YENYM S
22,0003 20 #23| 880
O==2es8 =z 25,0003 x50 2 1,250
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Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Od2AE AsH(dAgets) 7
60,000& 504 3,000
OFAA B0l TH 28 (2F)HAE 2
20,000& x50 & 1,000
OFAZE HANES ¢ 3,000,000 » 14! 3,000
Ozl2 Al E+2 AL 3,000,000& 141 3,000
Oag A8 |X2el NN 7L 2,100
— A8 SITHZXI 2 (HEH)
10,0002 *80H 800
— 430 7 30,0002 =104 300
—agsA 7Y 50,000& 202 1,000
O=2stilzsa MIES(HXMHEIIL 6F)
200,000& »12& 2,400
OFstilssa 29 23 ¢ 10,050
—FHZY #H=Z2Y 50,000& = 100EA 5,000
—2USE 2400128 HEX(FHY)
5,000& »200SET 1,000
SUHSE L0012 8 HHEX(Fta1.5V)
1,500& *300SET 450
—SUJIAH ZEI 2 2
5,000& «20L* 1201 & 1,200
~ oY 20 S D2B L& HolZ 7Y
8,000& *300EA 2,400
ORso=s2 MAIS =HI|J| 2 3,200
— Ct2ct0lE LED 15W 60,000 *20EA 1,200
— AZECZIOIE LED 25W 100, 000& *20EA 2,000
02020 HAHEB0ts| e LIS EIICH EAME ME
-2 8,000
—dESEUSI(EE0, 82 . E42)
4,000,000& =14 4,000
— 2RI SI(RH, . 2HEZ , 22)
4,000,000& %14 4,000
301 LEtEBA S 272,200 336,800 A 64,600
09 HALAHIXI &3 256,400 258,400 A2,000
OJlalsd =& 230,000,000 =14 230,000
Ogstlt A= & =& 2,200,000& 1201 & 26,400
12 JIEtE4 3 15,800 78,400 262,600
O=2stuna A=+ 100, 000& »7J4 Bt x202] 14,000
OUX It MEgua A=
100,000& 92| x2H 1,800
401 AIEHI L 20 244,066 206,000 38,066
01 A& Hl 244,066 206,000 38,066
O=Zstdl=3l& AIE=2 HE=HI
150,000,000& * 14 150,000
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CH2l: 23tAI - 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
— AMBI2SHESHEH SHEA ADEH|
200,000 x12& 2,400
— AMBI2SMSHAEH MAHIIZSSH(100L) 28
1,950 *50& « 128 1,170
— ANOS2SHSHAE BHEAX L JIHE A
Et 700,000& x23| 1,400
— ANBS2SHEHAEH NI EI|EH HIIEA
=] 1,700,000 13| 1,700
—AMOUSFMSLAH HASHY|
2,998,000 2% x12& 71,952
— ANMBI2SH=HAE HO e =2
17,000 1100 A x12& 2,244
—NOISSHSME B4a)| Ay 242
25,0002 «5J A x12& 1,500
— ANMBI2SH=EHE CCTV g =422
320,000& x12& 3,840
— AMBI2SHHAEH SASEMI| dE =4
= 25,0002 %20 A x12& 600
— ANOSIHSHAEH BHE O0t: XS4
150, 000& *3H A 53] 2,250
O3&H| 7,392
—ANUSSHSHE B2H #HAFRN OHE E
1] B 8,000 x11Hx7L x12& 7,392
02 232%H4| 402,380 400,250 2,130
O22322 % HA 339,420
— AMBSSH=EHAE &IR2S
14,000,000 ~12& 168,000
— ANBSSH=AE LdetNg L OlEU AIS
= 115,000& »12& 1,380
— ANMBI2SHEHH MotEE 202
10,000,000 x12& 120,000
— AMBSSH=sHAE bt LERZ
300& x150H 12& 540
— AMBSSH=HAH S| QERS
4,000 1524 x12& 720
— AMOI2SIHEHEH JtALolbla 2 24
= 100,000& *13] 100
— MBS EHEH Aot 22] &3l
200,000 *13] 200
— AMBSESH=sAH &I|otM 22 &34l
120,000& = 13| 120
— AMBIESH=AEH 2801013 &I AIEE
5,000 x18JH A 43| 360
— ANBSSHSHAE HE DS T AIJFA AL
2= 4.000,000& «12& 48,000
O 24| 830
—ANOSSHSHH HAaSM) H2H(ER)
1,350& «500L*13] 675
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EHa: éﬂ)\l’é 29
©el: 2AIE 2 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—ANYU2SHSHH W=D HdEH(HLSR)
1,550& *100L*13] 155
O AM&ZH s X 62,130
— &I, A2 I, A=, SEHEAE |
2,000,000& x12& 24,000
—SHE M2 H(SHE U 2AA)
8,190,000 » 14! 8,190
—ANBESHSdH 83 AU
4,000 *330m *23] 2,640
—ANYU2SMSHEH STLH M2 (It
Z8h) 15,000, 000& 13| 15,000
—ANRESHSHdH W2AE A=
500,000& *13] 500
—ANYU2SHSHEH 32 ZH(20000) w A
50, 000& 2004 10,000
—ANYUZHMSHE SHE A5
900, 000& *23] 1,800
202 odl 3,150 3,150 0
01 = LH o4 1l 3,150 3,150 0
O2tAEAS & EE2SS 2204l
150,000 »7H 33| 3,150
206 M= Hl 10,000 10,000 0
01 MHZ 4l 10,000 10,000 0
OANRZSHSHE 2228 MEaFL(RUS
A 82E8) 10,000, 000& 14! 10,000
401 A& HIZ 2018 150,000 162,800 A 12,800
01 A& HI 150,000 162,800 A 12,800
OANU2SMSHE A4 =4&H|
150,000, 000& 14! 150,000
405 RHoHE S HI 57,500 52,200 5,300
01 et EZFH S 57,500 52,200 5,300
OA23HZE HHF S LED AEHH(5000) =Y 2
2 4,000,000& +5CH 20,000
OAZHZ A2 (1500) 2 7
2,000,000 =12CH 24,000
o3dz soldz=a 2¢
3,000,000 *20H 2~ 6,000
OA23HZ 2401012 #& 1,300,000 304 3,900
OAZAHE EOtoI3 #< 1,200, 000& »3CH 3,600
SE st 2el & 22 411,957 308,739 103,218
101 @14 dl 3,930 3,930 0
04 JIZHHZ2XRHESE S 3,930 3,930 0
OF=MA &£ LA 2 (MeAIEHS
g ZE) 70,1603 +4H x22 x4 3] 2,246




FA: 2UHAEZEAIR A
dM: BIANE 2
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OxZ= 81 02 (REg220+g 28)
70,1603 +4H «22 *33| 1,684
201 L2l 226,567 173,575 52,992
01 At 22l 128,318 83,326 44,992
Oget=gHl 119,208
— =SAMEX 23,0003 x5 A %128 1,380
—OXNE=SgIIMNER 160,000& »12& 1,920
—ZCEAMI EHFY 330,000 = 1CH =424 1,320
—Zey ¥ A EY 237,000& »23| 474
— 2s& g EXNFY 403 +20,0000H 800
—ZEE MH 1,000& *300% x33| 900
—XIIEBEH =& 7L
1,950& *30& +12& 702
— 2 ¥ U AT AREIY(AET
g) 150,000& =128 1,800
— AT 4YE FN2 2Y
100,000 *5J 13l 500
— 2P e 2 o Fi
1,850& *1,600& » 13| 2,960
—28 &N 7Y 12,000& =150 1,800
— g2 s 2SS MA
400 *3,0002 *2& 2,400
—dAHE 2 ARIE WX
100,000 * 1004 2 1,000
— 2 TNIS IS ME
70,000 x5H 350
2y 2oAY HHLeE
220,000& 12 2,640
— &2 ZJd e 20,1803 «5CH 123 1,211
— E&tet gl e 16,900 20 x12& 406
— &t a2 700,000& 123 8,400
— 252 HIIANEE OB A2
900,000& » 14! 900
— gst2e el =28 250,000& »12& 3,000
— 220 | W 242
160,000 x 1+ 12& 1,920
—CCTVE & D[] dlgz  220,000& 1CH+12& 2,640
— g2 228 =5 MH 500& *3,000% 1,500
~ 2B TLE WS Y 2Y
500,000& *43] 2,000
—OF2l &efel 2 zZeldl
50,000& *43] =124 2,400
o [JEEITERE PN
165,000& »45CH 7,425
— 22 FA 294l
3,080,000& x1H x 1204 & 36,960
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2N
X ZH -
L= B

el

M0 MO MO

Ol Al & 2t2] AR &
A
StAl & 2el

(=]
g 29

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
206 M = Hl 4,500 4,500 0
01 & bl 4,500 4,500 0

O=2s M&g g5 Mg #¢
5,000& *200Y 23| 2,000
OXANE g7 =5 ™l 50,000& *50H 2,500
301 deEtE X = 5,760 0 5,760
12 JIEtE &2 5,760 0 5,760
O2ss TLE AHBHS
30,000 *4H x4 «12J4 & 5,760
307 QI2t01 ™ 125,000 96,500 28,500
04 QIZISHAFAIE B2 X 125,000 96,500 28,500
OZRAZaEH 7,000,000& *13| 7,000
O3 dZ2StHAEIE 7,000,000& x13] 7,000
Oxgs A=35dA 7,000,000& x13] 7,000
(@)=13= P ELR-TPS gy Rl 3,000,000& x13] 3,000
OFZAYSUI 2,000,000& x13] 2,000
O3] & 2s=sH 30,000,000& *13] 30,000
OFA~EZstA =X 15,000,000& *13] 15,000
OB A AN Y S 3 1,000,000& 13| 1,000
OWE=SEZAGH 3,000,000& x13] 3,000
O=SLEZsANEs2HM 50,000,000& *13] 50,000
401 Al HIL 200 41,000 19,500 21,500
01 Al &bl 41,000 19,500 21,500
O2etd HHBZ FHA SAHYI
35,000, 0003 *14] 35,000
O&za&a HEHE &X 1,000,000& * 14 1,000
O2& A2 HIJIHAIE 5,000,000& * 14 5,000
405 XtabF SHI 3,000 8,184 N5, 184
01 AL 2B F SHI 3,000 8,184 N5,184
Os&dAA HS&SI 7Y 500, 0003 =6 CH 3,000
20 EQESsSN =24 0s 37,000 37,000 0
= 37,000
201 LBEF2 9| 30,700 30,700 0
= 30,700
03 & AtE G 30,700 30,700 0
o210 ERQREsIsn Hs=2d4us 29
30,700,000& * 14 30,700
= 30,700
301 dBtEX = 6,300 6,300 0
= 6,300
09 HALAHIXI &2 6,300 6,300 0




2N
X ZH -
L= B

el

M0 MO MO

Ol Al & 2t2] AR &
StAIE 29
StAl & 2el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&BL EQeatsty AN 2 AL
6,300,000& * 14 6,300
= 6,300
eI 253 164,390 160,650 3,740
= 94,953
Al 69,437
201 ¢er24| 164,390 160,650 3,740
= 94,953
Al 69,437
03 A2 Z Hl 164,390 160,650 3,740
ogg==2s32 164,390, 000& 14! 164,390
= 94,953
Al 69,437
ZHs2 Estz=ns=Z20d NJAAZ 13,000 0 13,000
= 10,000
Al 3,000
201 Lt 11,200 0 11,200
= 10,000
Al 1,200
03 &Ar2 I 11,200 0 11,200
O=20za Btz 0y N3
11,200, 000& 14 11,200
= 10,000
Al 1,200
301 LBEAZ 1,800 0 1,800
09 HALAMHIXI &3 1,800 0 1,800
O=20za BsttlznsZ2 08 N3
1,800, 000& 14! 1,800
HE2LAZHI (20 AL 22l 1t) 180,490 179,150 1,340
A2 (20 AL 22l Dt) 46,316 46,316 0
QlHA2IHI(SHAIL 2t ) 46,316 46,316 0
101 @124l 46,316 46,316 0
01 2= 46,316 46,316 0
Ooxzuz=e+¢ 46,316
—52ZRxE 80,4093 x16H 36 46,316
JI2ZHI (20 A& 2e|nt) 134,174 132,834 1,340
Jl2dUl (20 A& 2elnt) 134,174 132,834 1,340
201 et 75,194 71,454 3,740
01 At 221l 75,194 71,454 3,740
O+t 16,554
—JIZ2MREEY 100,000& »23 % 2,300
—3& ¢ HdY OXE &I A8=
160,000& 20 x12& 3,840
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M HE2IAZH (S0IAIE22Dt)

¢el: 23U (20 A Z 22l ) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— 3l L HE SAD X2eb(EH S)
330,000& *2CH *33] 1,980
— 32 ¥ iy ZelH, BA X2l
237,000 *2CH *33| *20H 2~ 2,844
— SAJ =48l 500, 000& =24 1,000
—SMNEXN P (32, HH)
23,0003 152 A+123 4,140
—Jlg E2ESHI 150,000 *3H 2 450
Oo2g+¢ 58,640
- 2502 2SYNSANS BHLY
70,000& 11 »23] 1,540
— 2, =32g(3 2 HH)
50,0002 x2H 3652 +50, 000 & x2H 120 48,500
— Y STLY(SEB) 50,0008 * 1 *1202 6.000
-, =x>HBSEU=2A)
50,0003 » 1 »52& 2,600
202 4 tl 55,200 57,600 A 2,400
01 = LH 4 Hi 55,200 57,600 A 2,400
OFdAlg2e Jl=gRsa 2UHA
20,0003 *23& 103 x128 55,200
203 ¥R =&l 3,780 3,780 0
04 FANSEH =L 3,780 3,780 0
OZ A& 2tel 350,000& = 12& x90% 3,780




